Control and AIS  - Be prepared to discuss in class
1. When you go to a movie theater, you buy a prenumbered ticket from the cashier. This ticket is then handed to another person at the entrance to the movie. What kinds of irregularities is the theater trying to prevent? What controls is it using to prevent these irregularities? What remaining risks or exposures can you identify?

2. Explain how the principle of separation of duties is violated in each of the following situations. Also suggest one or more procedures to reduce the risk and exposure highlighted in each example.

a. A payroll clerk recorded a 40 hour work week for an employee who had quit the previous week. He then prepared a paycheck for this employee, forged her signature, and cashed the check.

b. While opening the mail, a cashier set aside, and subsequently endorsed and cashed two checks payable to the company on account.

c. A cashier prepared a fictitious invoice from a company using his brother-in-law’s name. He wrote a check in payment of the invoice, which the brother-in-law later cashed.

d. An employee of the finishing department walked off with several parts from the storeroom and recorded the items in the inventory ledger as having been issued to the assembly department. He then sold the parts on eBay.
e. A cashier cashed a check from a customer in payment of an accounts receivable, pocketed the cash, and concealed the theft by properly posting the receipt to the customer’s account in the accounts receivable ledger.

f. A purchasing agent received a 10% kickback of the invoice amount for all purchases made from a specific vendor.

3. During a recent review, ABC Corporation discovered that it has a serious internal control problem. It is estimated that the impact associated with the problem is $1 million and that the likelihood is presently 5%. Two internal control procedures have been proposed to deal with this problem. Procedure A would cost $25,000 and reduce likelihood to 2%: procedure B would cost $30,000 and reduce likelihood to 1%. If both procedures were implemented, likelihood would be reduced to one-tenth of 1%.

a. What is the estimated expected loss associated with ABC Corporations’’ internal control problem before any new internal control procedures are implemented?
b. Compute the revised estimate of expected loss if procedure A were implemented, if procedure B were implemented, and if both procedures were implemented.

c. Compare the estimated costs and benefits of procedure A, procedure B, and both procedures combined.

d. Considering only the estimates of costs and benefit, which procedure(s) should be implemented? What other factors might be relevant to this decision?

4. A manufacturing firm’s controller created a fake subsidiary. He then ordered goods from the firm’s suppliers, told them to ship goods to a warehouse he rented, and approved the vendor invoices for payment when they arrived. The controller later sold the diverted inventory items, and the proceeds were deposited to the controller’s personal bank account. Auditors suspected something was wrong when they could not find any entries regarding this fake subsidiary office in the property, plant, and equipment ledgers or a title or lease for the office in the real-estate records of the firm.

a. Describe the recommendations the internal auditors should make to prevent similar problems in the future.

